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READERZTT S Kig~DERZXT S KBADKEEYIZH TS
'-?'—@ SHEATITHEHE SHEAFTHEE EMEATITHEHE
IRz MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |4t 13,509,924| £ AT 100,649| £ A TH 16,989,552
2 |FEEEH AT RET 3,001,014)dt £ 76,481 =5 6,810,221
3 |SERARSIRHET 2,599,915)=Eh 36,214\ A% 4,133,281
4 |A&H 2,345,685| & A T 31,552 J\it&EFEh 3,939,874
5 |RERERE /7 IsET 2,185,044| A #&TH 24,470 BRI T 2,347,734
6 |—Bm 1,662,065 82| 18,302| L BAREB R HEET 1,759,519
7 BT 1,072,916 /\iBF 16,149|F0%E AP FEFNE BT 1,162,071
8 |EmEH 728,605| L BA{FER K HRHET 12,342 Il AR 1% EHET 572,342
9 |iEET 699,388| RE iR AR <& /7 I3 ET 10,156 |{E&H 533,928
10 |E&m™ 664,409|F0E R PE FNE AT 3,985 X [ 516,728
11 | FRAGFENE RET 580,000| — B 3,331)dt L 376,130
12 |EFH 265,453| &L ER{E EET 3,329|—PBEh 243,032
13 /\IBFEH 250,844|7E&TH 2,986 R 145,902
14 | ALEB1E B ET 108,605 4% iz R 45 SRR ET 1,894 h 7 BB E% K ET 113,019
15 | KiiEm 69,2272 & 1,268 %5 F 2B = FHT 70,319
16 |&EKREB X HET 55,830 K 665 = 57,978
17 |=Fm 53,1305 F&B = FHT 527 % KA R BT 33,391
18 &R 49,031| FER{R AR & R AT 401|55 F AR A HT 33,196
19 i=EH 33,757)i&iR™ REL E€:1 34 22,966
20 |EFEERET 17,346 L F ERERKET 346|RER &R <= /7 IR ET 15,974
21 |EERT= AT 10,105 % K &R < BT 201 | KfmiE 14,367
22 |EFEEEHET 9,112|—Ft 181|l=Ft 8,080
23 |—Fa—FH 8,260] T BRI 48R LLI FH BT 152| FEA{RER LU B ET 7,475
24 | ERA{RERRHEHET 7,556 [ERT= H T 12|fERT= BT 5,046
25 |'EFEBEFHT 6,380| 5 F &R & EHT 107| FEARER A RET 4,222
26 |FnEERFEFNE AT 3902| —F&—FHT 97| L F EBEF AT 3,955
27 | T™EA{REREA EF AT 2,800| L F EBEF HH 4 93| =F &f— FHT 2,634
28 | LFEAFF LA EFHERE 50| L E &AL F Ft 2,008
29 | P EBERKET 16| LR B F#F 39 I F BB EF AT 623
30 |LFEREFH#F O] ™ FA{R AR F 5 (A 41 3| T EA{RAR A EF A A 164
31 | FEA{RERLL BT 0| L F &h ¥ Er T | EFEFERHAT 36
32 | P EBFEFRT 0] 75 42 3+ #B < R BT O] 7 42 H &R T SR BT 0
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